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(English gersion)
Instructions:

(i) First 156 minutes are allotted for exqpm; 08 1° read this question paper.
(1i)  All questions are compulsory.
(i) This question paper has two Parts A gnd B:

(tv)  Part - A contains 20 multiple choice yp? f}“*’:"zwnls of I mark each that have to be
answered on the OMR Answer Sheet only-

(v)  After giving answer on the OMR Answer Sheet do not cut it and do not use eraser,
whitener, elc.

(vi)  Part - B contains descriptive tvpe questions of 50 marks.

(vii) There are 5 questions in Part - B.

(viit) In the beginning of each question, it has been clearly mentioned that how many
parts of it are to be attempted.

(ix) Marks allotted to each question are mentioned against i,

x)  Start from the first question and go up to the last question. Do not waste your
time on the questton you canhot solve,

. -_ . “n-m . —'. r ) §

v If you need place for rough work, do tf on the Ie)‘ft page of your answer book and
. : . e

cross (x ) the page. Do not wrile the solution on that page. '

'ﬁ-\.“
(xit) Draw neat and correct figure tn solution of « yuestion wherever il ts necessary,
otherwise in its absense the solution will be treated as incomplete and wrong.

Part-A

Multiple Choice Questions:

1.  Maximum number of zeroes of a cyh;e polynomial will be : 1
(A) 4 (B) 3 C) 2 D) 1

2.  Prime factors of number 140 wi]j be - 1
(A) 2x5%x1T (B) 2xTx5
(©) 22x5x7 D) 92x 5% 72

822 (HV) , P.T.0.
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3.  The relation between L:lividend, divisor, qlllm_iient and remainder will be :
(A) dividend = remainder x quotient + dl“’lsor
(B) divisor = dividend x quotient + remainder
(C) dividend = divisor x quotient + remainder

(D) divisor = dividend + quotient x remainder

4. The solution of a pair of linear equations X +2y +5=0 and —3x -6y + 1 =0 will

be :
(A) Unique (B) Two
(C) Infinitely many (D) None of the above

5. Common difference fm: the Arithmetic Progression (AP)— 5, — 1, 3, 7, ... will be :
(A) 1 (B) 2 (Cy 3 (D) 4

6.  The discriminant of the quadratic equation ax® + bx + ¢ =0 will be:
(A) b2~ 9ac (B) 42 +dac
€©) b%-4dac (D) b2+ 2ac

o . - \
7. Distance between two points (2, 3) and (%, 1rwiltbe -

(A) 2 (B) 242 (C) 23 (D) 3

8. If the roots of the quadratic equation 3x2 - 12x + m = 0 are equal, then the value '
of m will be :
(A) 4 (B) 7 (C) 9 (D) 12

9. A ABC is an equilateral triangle of side 2a. The length of each of its altitudes will
be : '
(A) a2 (B) 2443
(C) a3 (D) 3a

10. Mean of the following table wil] he

’ Class interval 1-33-5

[Frequency 3 )
(A) 2 (B) 4 (© 5 D) 6
822 (HV) 8
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sin 27°

11.  The value of ——— will be :
c0s 63 1
1
(A) 1 (B) -1 (©) 0 (D) 2
3 , .
12. Ifcos A= -\[2—_ , then the value of sin 94 will be ;
1 3
2
18. The value of 1+ tinz_‘i will be : 1
' 1+cot® A
(A) sec?A B) -1 (C) cot®A (D) tan’A
14. sin 24 = 2sin A is true when A is equal to :
. A0 B30 o Q450 D) 6O
- ) n
. 16, The area of a quadrant of a circle whose circumference is 22 ¢cm will be : 1
A 2 em? B 2 cm?
7 8
7 8
© 2 em? D) = cm?
8 . 17
16. Capsule is a combination of : 1
(A) Two cones
(B) One cylinder and two hemispheres
(C) One cylinder and one hemisphere
(D) One cylinder and two circleg
17. If the mean and mode of some data gre 32 and 35 respectively, then its median
will be : ‘ 1
(A) 30 (B) 31 ©) 32 (D) 33
822 (HV) 9 P.T.O.
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. t _—_
18. The modal class of the following frequenCy table wi) pe .

Cluss intervad | 0—5 | 5-10 [10-19 1520|290 _ 25

19 6

Frequency 8 7

(A)y 20-25 (B) 15-20 (C) 10-15 (D) 5-10

- 19.  Htwo dice are tossed together, then the Pmb&bility of getting the sum of numbers
on both the dice as 10 is :

a) 1

1 1
2 - C) - (D)
12 (B) 6 ( 4

QO | b=t

20. When a die is thrown once, the probability of getting an even number will be :

1 1 1 1

el - - D =

(A) 1 (B) 3 (C) 5 (D) 6
Part-B

Descriptive Questions :

21. Do all the parts :

(@)" The volume of a cube is 1331 em®. Fthd ;&E&Ch side.

(b)  If one root of the quadratic equation ¥2 + 3y — p =01is 2, then find the value
of p. https:/iwww.upboardonline.com

(c) Ifecosd= %, then find the value of sin 4.

(d)  Find the mean of the following frequency table :

Class interval 0-2 | 2-4 | 4-6

Frequency 1 2 6

(e)  Find the coordinates of the mid-point of the
(-3, 10) and (5, 4).

() If the distance between the points (~1, - 3) ang (x, 9)
the values of x.

line segment joining the points
15 13 units, then find

22. Do any five parts :

(@)  Find two consecutive odd positive integers, sum of whose squares is 290.
(b)  Prove that in two concentric circleS, the chorq of the larger circle, which
touches the smaller circle is bisected at the point of contact.
822 (HV) 10
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(C) In t-he ﬁmlre‘

BM ~ pN- 4
B

if LM Il o rove that &M _ AN
fng I—-N i (;fL t

Find the zeroes of the

quadratic polynomial 2 + 7x + 10 and verify the
relationship between the Zeroes ari the coefficients,

Find the median of the following distribution table :

Class interval

.
40 - 50

Frequency 4 \ 7 ‘ 3 2 '
) A bag

contains 5 red balls and some blue balls. If the probability of
drawing a blue ball ig double that of a red ball, then determine the numbey
of blue balls in the bag

8. Sum of the areas of two Squares ig 157 m? If the sum of their Perimeters is
68 meters, then find the sides of both squUaTes. 6
OR
The velocity of a boat is 18 km/h iy, atjll water- It takes one hour more to trave]
24 km in downstream and 24 in upstrea™ Find the speed of the current. 6
8 (HV) Y P.T.O.
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94, A statue 1-6 m tall, stands on toP of 8 Pedestal. From a point on the ground, the
# i startt " < [ . .
on of the top of the statue is 60° and from the same point, the

angle of elevati _
destal is 45° Find the length of the pedestal. 6

angle of elevation of the top of the pe

OR
Two poles of equal heights are standing Opposite to each other on either side of
the road, which is 80 m wide, From 2 point between them on the road, the angles

of elevation of the top of the poles are 80° and 30° respectively. Find the height of

the poles and the distance of the point from the pole. 6
25. A juice seller was serving his customers LSing glasses as shown in the given
figure. The inner diameter of the cy]jnd_rical glass was 5 ¢m, but the bottom of the
glass had a hemispherical raised portion which reduced the capacity of the glass.
If the height of the glass was 10 cm, then find the apparent capacity of the glass
and its actual capacity. (Take 7=23"14) 6
5¢m
- 10 cm
=Y
OR
Rasheed got a spinning top (Lattu) as his birthday present, which surprisingly
had no colour on it. He wanted to colour it with his crayons. The top is shaped like
a cone surmounted by a hemisphere. The entire top is 5 cm in height and the
diameter of the top is 3-5 ¢cm as shown in the figure.
22
Find the area Rashced has to colour. (Take 7= o ) 6
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